RF 3 K50 A B AR R d]

T/TSEIIBEL A E RS
BATRE, TEEREIX150 mm

T

o ZEHIRHM%EE (18 x 18 mm)

o [RFEMK, MARPMABE, BT 100X 10° Kissh
o LS, Iimnik £0.05%

o WHEA ML £0.002 mm

o WUh A& EBAT

o Binpd FdRB AR L

o AT ek L B AR e i B 7 X

o TR IS LI B £ g w3 R 00 1 i )

o BTSN E AL 10 m/s

o A EMIE N FER G, WS TR/TRS R#5177 5 Bk
TN EE ST, E2E TED Z507 %R WF
AL, TS LST RA Sk,

e JEAR M B TIR AL PCB L5 i BEAA R BRAR, M1 52 30
R A A T 0V T DA T 22 R A S B AT b S v BELAA e
BESG. WEKES, ok,

e A M ER R EE MR & (T BAERIAT AL — 0 ), WTfR
WEfE RS a s E i, B A% RS BT 07 1) 5 ia 8 &% 1 75 AT
FEMETR T, WAL R .

FT B 45 R 1L A 2 ik s R 5P 3 BELJE A0 i S 2% o e LY
TR, BV AE i 1T B 2R 52 i o R R NS REARAIE S HL B
] 4 fk

$HEHH1E:022-89887198-8003/23712219-8003
f£H:022-89887199/23727926

It :-www.cnnovo.cn. www.cnnovo88.com
B8 :nwtk5@cnnovo.cn
BEAA:FET13114891271

novoitechnik

Siedle Group

o B

s % B4R L5 AIMgSI

% % 2 A~ ] B e HE Z-45 Fn 4 A M4x10 83 #2 (DIN EN 1SO

1207) (R W fr)

BT R ) K 140 Nem

o AF A4 1.4305 / AISI 303

OB A M6 x 0.5 IRAEMREREER , HKALBE, b))
Fe kAR Wisiii DU etk 4 Js ik

HLBR T SRR

R Yol w2 AR, SRR

LA

T &5 345 PVC BHEESE, 3x 0.14 mm2AWG 26),, K 2%
TS %5 5 £ M16x0.75 (IEC 130-9) [al4fi sk 3 1 M8x1 [l
TR

FRHES E: T TiEER S bihvaz AT
023202 T-0025 0..25mm iR < +0.2 %FS
023203 T-0050 0...50 mm i < +0.15 %FS
023204 T-0075 0..75mm R < +0.1 %FS
023205 T-0100 0...100 mm iR < +0.075 %FS
023206 T-0150 0...150 mm Wi < +0.075 %FS
107032 TS-0025-101 0..25mm M8 #i < +0.2 %FS
107035 TS-0050-101 0...50 mm M8 #i % < +0.15 %FS
107038 TS-0075-101 0..75mm M8 #fi 3 < +0.1 %FS
107040 TS-0100-101 0...100 mm M8 #i < +0.075 %FS
107042 TS-0150-101 0...150 mm M8 #i % < +0.075 %FS
023232 TS-0025 0..25mm M16 #idk < +0.2 %FS
023233 TS-0050 0...50 mm M16 4 3 < +0.15 %FS
023234 TS-0075 0..75mm M16 #i sk < +0.1 %FS
023235 TS-0100 0...100 mm M16 4 3 < +0.075 %FS
023236 TS-0150 0...150 mm M16 43 < +0.075 %FS
023207 T-0025-1 0..25mm FNIEE < +0.1 %FS
023208 T-0050-1 0...50 mm iR < +0.1 %FS
023209 T-0050-05 0...50 mm R < +0.05 %FS
023213 T-0075-05 0..75mm iR < +0.05 %FS
023214 T-0100-05 0...100 mm g < +0.05 %FS
023215 T-0150-05 0...150 mm iR < +0.05 %FS
107033 TS-0025-1-101  0...25mm M8 #i % < +0.1 %FS
107037 TS-0050-1-101  0...50 mm M8 i < +0.1 %FS
107036 TS-0050-05-101  0... 50 mm M8 #i I < +0.05 %FS
107039 TS-0075-05-101  0...75mm M8 #i % < +0.05 %FS
107041 TS-0100-05-101  0... 100 mm M8 #i 3 < +0.05 %FS
107043 TS-0150-05-101  0... 150 mm M8 #i < +0.05 %FS
023237 TS-0025-1 0..25mm M16 #i sk < +0.1 %FS
023238 TS-0050-1 0...50 mm M16 4 3 < +0.1 %FS
023239 TS-0050-05 0...50 mm M16 #i s < +0.05 %FS
023243 TS-0075-05 0..75mm M16 #idk < +0.05 %FS
023244 TS-0100-05 0...100 mm M16 4 3% < +0.05 %FS
023245 TS-0150-05 0...150 mm M16 #i sk < +0.05 %FS
THRNEEE

2 Z- 45 ¥ (W 44 M4AX10 B8%T) Fn 1 ABRER

TR (FHIMTH )

Z-FTI-BO1, j™f%mi%: 059010



RF R 5% 8 B ARA R E)

novotechnik
Siedle Group
T = M161Hk M8k
21
18
U 8 @
e | . g 1| 5
1 . : J%?eq
W el s W W
z-45 18

29,6
40,6
26
32

m 1.
2 3 q .
D ) . - 3
el @S @p @
| makex =
< S
B[] el @ e @

M5x0,5

288"
40

$HEH1E:022-89887198-8003/23712219-8003
{£3H:022-89887199/23727926

X3k :www.cnnovo.cn, www.cnnovo88.com
B8 :nwtk5@cnnovo.cn
BEAA:FET13114891271



KRR AL A B L3

novotechnik

Siedle Group

BARSH

AESEN T/TS-0025... T/TS-0050... T/TS-0075... T/TS-0100... T/TS-0150...

WAATRE 0..27 0..52 0..77 0..102 0..152 mm
TAERFE 0..25 0..50 0..75 0..100 0..150 mm
it Fiais

iR 1 5 5 5 5 kQ
PHAE 2y 2% 20 +%
T 2tk < +0.2 %FS HH < +£0.15 %FS i < £0.1 %FS HH < +0.075 %FS < +£0.075 %FS +%

< 0.1 %FS < +0.1 %FS < +0.05 %FS < +0.05 %FS < +0.05 %FS
< +0.05 %FS

A A < £0.002 mm
HRIIE 3 TAR LI <1 LA

b AL RGO PN 10 mA
FeVFie R TAERE 42 v

i Y PR 5 A PR I A 0 R R L i 5 ppm/K
AL (500 VDC) >10 MQ
#2350 B (500 VAC, 50 Hz) <100 A
S

ShsERE Rt A+t mm) 63 88 113 138 188 +1mm
BUBRATEE (RSF B +1.5mm) 30 55 80 105 155 + 1.5mm
dik (R / W) 140/86 160/107 170/132 190/150 220/190 g
BRI AT B 35 43 52 58 74 g
TAESZ ) (KFJ5T ) <0.30 N
BT R R R + 1 mm AT, * 2.5°

] 5 SR ET SO VRl K HLE (GiFE ) 140 Nem
RS

AR it Bl -30 ... +100 5% -30 ... +85 (#f M8 kit ) °C
TAR R 0...95 (FEivit) % R.H.
Huoh b b 209, 5 ... 2000 Hz, Amax = 0.75 mm

HidkshbriE 50g, 11 ms

F >100x 10° ®
RRBITHEE 10 m/s
DRk IP40

it gk IRARA T N TR AR /G, Wk /A

EFEEmM

FERAR R P AR Rk e . M i . BRERIERE . HUAMTPRBEAE Ao JETE SR T B R BB, A% 138 TARAE LLIS SRR

AR HLU A Y 2 R R R, EL R AN SR (le < TpA) ARSI,

BEHIEY

M16 fisk M8 #sk HUG TR LT -

1Bete

S 1 I 3 e TAELE GND

S 2 S 4 e o) a5 24t

3 PR e GND TR

1 4 2 2 2 2

£ 5 % 2 B % st
) RN, 4 27 AR -

*MFERIMEWH S, BFESHEET

$HEEH1E:022-89887198-8003/23712219-8003
{£H:022-89887199/23727926

ik -www.cnnovo.cn. www.cnnovo88.com
BB :nwtk5@cnnovo.cn
BEAA:FET13114891271

Hetkl

© 09/2020

A e,
AT TR,



